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LATE night investing with 
Michael



- Tweedy Brown research 1970-1983 (13 years)

-The mean return from net-nets stocks for the 13-year period was 29.4% per year 
versus 11.5% per year for the NYSE-AMEX Index….

-The net current asset portfolio's exceptional performance over the entire 13 years
was not consistent over smaller subsets of time within the 13-year period. 

For the three-year period, December 31, 1970
through December 31, 1973, which represents 23% of the 13-year study period, the mean
annual return from the net current asset portfolio was 0.6% per year as compared to 4.6%
per year for the NYSE-AMEX Index.

- The companies operating at a loss had slightly higher investment returns than the companies
with positive earnings: 31.3% per year for the unprofitable companies versus 28.9% per
year for the profitable companies.



Greenblatt:
Over a recent decade (2000-2009), looking at
just the top quartile (best-performing 25 percent) 
of investment managers, almost all of these
top performing managers (96 percent) spent
at least one three-year period during that decade in the
bottom half of the performance rankings. 
Fully 79 percent of those who ended up with the best
10-year record spent at
least three of those years in the bottom quartile of
performance and a staggering 47 percent, about half, 
spent at least three of the ten years in the bottom decile of
performance (it’s unlikely that many of the original investors in this last group stuck around to
achieve those great ten year returns!) Yet all of these managers ended up with top ranked 10 year
performance.
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Assets:

-~£40B 
- Mines depreciated £5B in 

last 6 months
- -All liabilities £35B

- Stock trading for £3.5B











a) Valuation (DCF)
b) Screening
c) Taxes
d) EBITDA
e) Please STOP!

Over to you





Present Value Discount rate

Year FCF 18%
1 £10,000 £8,475

2 £10,000 £7,182

3 £10,000 £6,086

4 £10,000 £5,158

5 £10,000 £4,371

6 £10,000 £3,704

7 £10,000 £3,139

8 £10,000 £2,660

9 £10,000 £2,255

10 £10,000 £1,911

SOLD 10 £150,000 £28,660

Total £73,601

Would you buy this business at £50K?

Profit 100% Over ten years

7.2% per year





If you assume a growth rate you can afford to pay a little more

I don’t like to pay  <<  normalised ~6x FCF 

And selling around either:
Increase of 70%-100%
Around EBIT 10x or a P/E of 15 approx


